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STRUCTURE AND WRITTEN EXPRESSION

= 0 see the new zoo

- ®eenved its name because
R et fire

. gwth

~» grown

qnckl\

Fagonard was french
=% of children

L pantings

Wl b painted

- pmanted

e have a professiona;
==ur protect confidential sources

- pwmmnajists

: ,
o they

),
== that

- = B Presley is banned in seven
T countries across the world

. The mesic s

" e music

. smmsic which

e mesic

= marked (A), (B), ( C), and (D). Choose the one

6. If'a ruby is heated, it temporanly lose
1ts color.

A s

B. will have

C. will =
‘D, was

.2, Only .. .. feathered Creatures inhabit the

arctic region year round.
A. much

B. fewer than

C. less

D. afew

8 The television, . . . so long been a part of
our culture, has an enormous influence.
A. has

B. it has
C. which
D. which has

9. We are pleased to’ inform
missing order has been found.
A. you
B. yvour
C. vours
D. vourself

..... that the

10. Antarctica is the site of | elevations on
earth.
A. the highest
B. the highest are

C. and the highest

D.higher
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v sentence has four words or phrases that are underlined. The four

are marked {a). (b), (c1. and (d). Identify the one word or phrase

for the sentence to be correct. Then, on your answer sheet, find the
cross (XD to the letter vou choose.
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gl

¢ moon, the planet called Mars have two small ones.
C : D

::n
Tk
e Misroune retates slow than any other planet except Venus

s :'_\ B C D -
et 1 2o oed 10 the top of the hill to get a better view.
& B ‘ C D
Foaims =< fossils of pollen, researchers is able to gain useful information about the
A B C

S f5w vears, scientists have studying the effects that pollution has on the ozone laver
B o D

25 S vears, scienusts have studving the effects that pollution has on the ozone layer.

I C D
=< 32¢ 1t he could picked uy 1 trai!
B C [

i =e sswdents in the informatic clas. s i

tieit own research paper this semester

2 B CTN=ID)
mr==mEmes cenguins slide on their stomac) pustung itself with their flippers
A ] @ D

Zr —owass which is the professor for tiis clas:  will be absent this week because of hig

e B C D

READING COMPI :{ENSION

= thus section you will read several nisages. Each 1s followed by questions about it.
=30, you need to select the one best ans.wer, (a), (b), (¢), or (d), to each question, Then.
mExwer sheet, find the number of the quesiiomn and blacken the space that corresponds to the

= I zmswer vou have selected. Give a crose { X) to the letter you choose.

510

e @=velopment of the horse has be: n recorded from the beginning through all of s

Sy stages to the modern form. It is, in fact one of the most complete and well-documented
salzontological history. Fossil finds poove < us not only with detailed information about the

=5 =t also with valnable insight into the mic tion o herds and even evidence for speculation
BEmanic conditions that could Rave inctio . fm .. nl st orm b okt
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hon 0 at the beginning of the Plionece
: its svolunionary development, crossed a land bridge where the
W Eocat;‘& from Alaska into the grassiand o f Europe. The horse was the
T 2 modemn-day ponv with three toes and specialized cheek teeth for
2 Rippanon encountered another less advanced horse called the anchitheres, which

I ST S

=w2Z82C Turope Dy the same route, probably during the Miocene Period. Less
e m:er than the Hippario'n the anchitheres was completely replaced by it. By the end
,mr--g UES

J |

¢. There were horses in North America
si=on of the horse. when the first European colonists
t\ mm: Tm—=a0n of horses. arrived.

meZern-day ponvy d. Very little is known about the evolution
cement of the anchitheres by of the horse.

6. -According to this passage, the hipparions

i the author, fossils are were
r:-sa:::c valuable for all of the following a. Five- toed animals
=y = EDT b. Not as- highly developed as the

e anchitheres
5 — . ¢. Larger than the anchitheres
T ;.roﬁde information  about d. About the size of small dog
~mes Secumented the evolution of the 7. The word ‘it * that is bold refers to
e : a, Anchitheres
L ®es —=mmtain a record of life prior to b. Hipparion
e MEocene Age c. Miocene Period
d. Route
war=  instigated” could best be
2 B 8. The word ‘extinct’ which is bold is closest
Timpsed In meaning to
= Karsed a. Familiar
= moeroeed b. Widespread
L mruesced c. Nonexistent
; ' d. Tame
i - lievg -s.uggests that the hipparion and
; migrated to Europe 9. Both the hipparion and the anchitheres
2 == ==2a5 of land route that is now ~a. Were the size of a modern pony
eesient b. Were native to North America
. _w =e saips of European colonists ¢. Migrate to Europe in the Pliocene
= S=ceose of a very cold climate in North Period
Tamence d. Had unspecialized teeth

T “mr== the Miocene period
10. It can be concluded from this passage that

== e following conclusions may be the
= 12¢ basis of information in the a_ Miocene Period was prior to the
> id Pliocene
‘2 e zpparions migrated to Europe to b. Pleistocene Period was prior to the
=z = dev eloping grassland. Miocene

= Te= zre no fossil remains of either the ¢. Pleistocene Period was prior to the
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=ere wes recogmized in Longfellow’s poem, “The Midnight Ride of Paul Revere” for his
2 Revolutionary ¢

“umes. In this well-known poem, Longfellow describes how Paul

me nide on horse-back from Lexington 10 Concord, The purpose of this famous

e Concord Militia that the British were planning to attack.

=. Lengiellow’s poem does not recount the hist

wzvel zlone on his important ride. Instead, he

@ tor Concord with a Dr. Samuel Prescott, w
== mav hetween | evinoton and Concord, th

=22 2 prisoner of the British, and Dawes ma

orical events accurately. In reality, Paul
met up with William Dawes in Lexington
ho was on his way home.

¢ three were stopped by some British soldiers .

Sismess who cot through to Concord to wa:

#2s Paul Revere and not Dr. Prew

#5222 main idea of this passage?

L Famd Revere's ride was essential to the

B Lemsfliow's description of Revere’s
=T8S was heroic but inaccurate

= == Revere should have been given

Tl in Longfeliow’s poem

ww did not really write the

W 22out Paul Revere’s ride

5 i ==zliy written by Dr. Samue]
B
5 I oS o0 attack on the British

= wmzen before the revolutionary
5 2 Zm0us piece of literature

BEES e Paul Revere
W28 2 coward
SeE = midday
SS.eC 2 waming
- Jmmo«=C the British

Wl “mulitia” s closest in meaning

s poem, Paul Revere
== s nide by himself

"< =t wavel on horse-back
L= == with William Dawec

naged to escape. It was Dr. Prescott rather than
+ the militia of the British attack that was coming.

't who received the credit for the heroic deed n

16. The word “he” in 2 paragraph refers to

/iPa‘ul Revere
B. Dr. Prescott
C. Longfellow’s poem
D. Historical events
17, The word “recount” is closest in medning to
A. number
B. tell
C. deny
D. invent

I8, What happened after the trio was stopped
by the British?
A. Paul Revere escaped
B. Dr. Prescott was taken prisoner
C. Paul Revere was taken captive
D. Dr. Prescott failed to get through

19. The word “deed™ is closest in meaning to

A act
B. speech
C. battle
D story

20. Where
 indicate
wafning?

A 1-3

B. 4-6

C 7-8

D 9-10

in the passage does the author
who actually carried oyt the



